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[# ZE]ChaGPT Z—#thst+ oKt A RBET AR T L, 244 B Chah o, N xE X TAFf4F
WA EREL, RBEARKET N ZRLG M E L KT T ChatGPT #94## ) , LILE S A M T4
43540 o L AARF &4 T R pafit ik 438 P15 7 X, Tl % ChatGPT 325 i & R A% 69354, A2t
— W F A E G MER, Rt ChatGPT BB ENAGLEEEALZER SN EZEZFAF NG, L BB £
WA JE A AR EVAIEH] . Bt ChatGPT 385 698 B 2o /Mid it K- F 5 RA RN 24 F L RIF 485 ChatGPT
B 50EAMEF R, AR B 6 AR X R I kR e AR F K e TAE R

BRHAL,
[ X817 ] ChatGPT; # X4 ; ( P E 354k

— .ChatGPT #EiA

1. ChatGPT #5 /= A Fa 5

ChatGPT J& OpenAl 2\ ] 4fE i i —Fh 7 SR18 5 Ak
B (natural language processing, NLP ) #& I =~ H o
Chat J& X 3 19 2 &, GPT J& generative pre — trained
transformer (42 B T SRR S B ) (O 45 S, H T
VERLFR 38 i T Ae 2 > (' pre—trained) Ko B e
X35 5 G, xF AP A B SO AR T o AR R
(generative ) T 2 A AP BE B2 (chat) » HIE fE
IKFWBEE ChatGPT B TH AR TN BT 2 5

HRAE OpenAl /A 7] & A6 115 8., ChatGPT 1 T+4%
T AL BT FHARAL 1 2 Bt A T 091 5 A0 5
PEA IR, 2019 4F 2 A ARG GPT-2
SR 15 42, B ZRE 1 40GB ., 2020 4F 5
HIHH) GPT-3 IS %A 1750 L, Bl 280 &
2 45TB,, 2021 4EFFRIY GPT-3. 5 ( S 4 A Bk
B AN ) AT LA ] B8 A ] SCAS 7] B, 58 nl 22 8 0k
W, 2023 4F 3 A IR GPT-4 (40 Ml 24
PEAHD) ARG E 454 7 T B AT S R0,
HAE KL T 90% 192 H 2% SAT-1 %4,

2. ChatGPT #9547 s H R 5 o #k

ChatGPT FRZLLAEAR 24 5 1,

(1) transformer ( 415 5 ff i 55 46 ) Fo AR | —Fp 2
RRERE=WILiIN I R E L EY G v e L A R R R
. 58 -

I

FR) ;@A RMARA

b 2% (encoder) FIfRAL 28 ( decoder) BI-1~H143, He o 4
e 4G H 11 = 1 T2 (self—attention ) F14 % 2R
B T2 gt 12 e IR A AP
H A R) 7 22 ) 14 MO DG 2R 45 1 O AT R AR R
7 X AR I AR SRS R AT AL 3L, O A e A i 3R
R it A s (0 BEAC S5 40 5 g 1 45 25 AL, BT X
bt 09 b B TR R 23k B T 2 (multi -
head attention ) , A T Z 5 1H — b % & (add &
norm) , LA B 1k i A% i F2 S 4k 47 B (5 B #
(residual connection)

(2)FET transformer B ML 454, GPT AY{5 B
e A AR 22 )2 4 i i R iR 0D 25 A, L o A
—A IR PE R A 22 R 2%, M 4% 0z A A 7
3, S T A 25 ST TR S, B i 45 E TR 3
HEM FSCHY T RE , A e 1A [ 4 XSO T R Z (]
R P )l

(3)RLHF AR, RPN\ R 15t A9 5 1k 7 >
(reinforcement learning from human feedback , RLHF) ,
XA AR R 3 A7 o W SO, RIA
FAAEE NS TR ) /0 s 1 5 X T R B 2 5
HEAT VRIS 0020 0 A SCAR A S 3 5 JFC b 3t 2 gy
BEAY | H b 18 3o o) e O A i) 224 25 2R ik
FrNTAHER AR, IR0l ek BR Y | T a Ak o7 )
R 1 45 R 1) [ ST = A 3 v SR A
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Bk ( proximal policy optimization, PPO) , B4k &%
JIlARE IR AR A A TR Y 25 SR 1E AT B B Al If R
FHaR AL 7 2 SCAS A iU R HE AT AL, i A B
AT A NETUA I SCAR I RE T o

(4) 82T+ AR (instruction tuning) , Bl 3
P IRBL A8 2 R 5 A OCAR S & 1 I 215
I, T SCAS A il Y 1 2 8, HoAx 0 JE A2
HF B ORTE 7 AL BIAH OCAT: 55 6 Ak oy 5 148 4 ik 1Y S
AR, GPT A] DLKE T-45 4l ik |, £ fofi A5 74 1
fifAE A AT 55, T A2 LI SCAR

(5) B 4E%55 F R (chains of thought) , B & X}
PEHL TR 1 5 2 A, f [l AL o2 R 4 B
5Pl A & 2 B P BT 55, Horp 18—
ASr ] 3R Hy — AR X ) B 4 2 i AE S S
TG L — N Z I 2 D TR AR X R AR AT L
I ICATE N A 19 A 8, il B A A R A e A
TS

53 2 AT R GEAR L, ChatGPT 1 f KA s 2
i T A BT AN 2 5 T R D) A 32 8 4 ) X 2
K, HEZEDRERBNLIT 4 A, (1) Q]3P
AT NS T LR SCAR iy | SO B 7 A A
ARIEMEZR, ()R EE T RLE N 25
XPEEH P L ARB R B SR, (3) R
TIPS AT Lhid ok 258 %038 75 =X, AT H P 4
IFIESS . (4) ISR . AT LRI 5 24 5 1158
LR

3. ChatGPT * %L & #9 %%

FEHH G, ChatGPT XS 2% 3 3 D5 ARG
FHERW, (EHF D50, B0 LS B) ChatGPT
BB SCA A i RLHF $ AR F1 o] $hAT 5T 45
BT RE , 38 o A W 4 IR) 46 /) 1) 39 1 45 O =Xk
ChatGPT AL M2 R B H0 Ir 58 B 2050t
FEAE, FESF2 0, AT LA ChatGPT 1) . 5
AN TE DI BE, 48 T 1R AR 27 B LG 20
RIERFNEE o TEBCF VPN Ty, B0 AT LA Chat-
GPT % 5 il Btk 5 1E L 2 W 5
55, F 224 E NN, ChatGPT 1] LUE F 2 24 4%
RISV Sl X (A 22 G VL IDIN (34
“Of—AE” ZICBE e e < I —A—HL” = o ;]
DA AT B A% AR FR 72 32 A0 DA TE I D2 o) 11
TR+ IR IDE; AT DAE o B0 A RE 0 I T A= A Y
W ARSI B0E 6 7 Sy it 4 e

RERIBE -5 7T DME S T BLE  % 48  SE a5 Bt
G W5ERL BECEAE BRSO A

ik, WA A DZE A ChatGPT AT RES|
RHHE WAL, e, A e e NE
YEMb 36 5, W55 B8 1T BE e AR B BiF 9 4 75 5
WO, XS T IE 202, R AR AR FR A5,
[FET, FHF ChatGPT A B SCARAS Ak & JLe, P
ARG BT RE A E A IR R T, B H B
¢ ChatGPT HRE ) ik £ v, 038 B 3ok & g 15 8 R =
2 SRR [ ) AR AL | 2 A A D T Y ), 3X
R SR M AE AL B2 AR R B 38 ZE 3 g sk 24 A
A3 AT JEL R ) SR A R T Uk B 3R AR AR R
SE S B 2 BRI BE T, BE4b, ChatGPT if 7] B
FECH BRI L, 5] & S AR AR AR
A J AR BB L

i, RS KRR T HAE M, SRR 5T 5
AKZ . KHT I ChatGPT, va IR Hibk &5, B 3% B A
A M E, R A Bl U T KR K%
EHAFHK

ZETHRZEFNEZELH ChatGPT #5%
®it

FIH ChatGPT Ay L, A0 e 45 B % i — R 51 T
YEFE4 . # BB R W &2 i 2R, B il R
TR, AR T S 18 A 7 i IR T R A R L A R
SR PR A8 R A R A A 3 SRR S A
25 ChatGPT 35424+,

1. X XEAZRK

PR IOE ARV I, BT 55 R
REEA, e Bk Vb T 3 55 0 0 25 R
R AR R SR AR ESOERE ) S a3 ) (i
PR CSE) , JuB MR F BRI MR s HR D
AR E S TE AR 4 L BB RE G iE
fERE T (WT I AIBE 32 ) I 5 RIA R I (IBEMS1E) |
B FIRE ) BHIERE I AIE S RS 5 NERE S S ARYE
IRERPRE, S R O R R AT S E
PR EERAIE RS 4 A PR 1
HT CSE M RHZ O R FF BTG EE ik #

WIEZE 1, AT ESR ChatGPT 43 A1 i% —LLfE
0% 2% A B iRk R R E I D AR AR R A 21
TR E | [ B R sk S H A8 T IR AR
FRELRIGTE T RE ) SCIE R B4 5 2= 2 B
4 FhERHZLRTR
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*1 T CSE fNERHZOEFHEIE IR IEEZ T H6]
EEESN Ak | B | 2
Geiti - — : , - T s
EETRAE S | IES IS | BTN | BEReh | iESTEN | B0 | fED
YRR 7 7 2 0 2 4 4 5 31
T BRI 5 3 2 0 2 4 4 4 |24
PEIEHIR
DIRE N 3 3 2 0 2 4 4 4 | 22
FARAS TN =B TIN AN 3 4 2 0 2 4 4 4 |23
At 18 17 8 0 8 16 | 16 | 17 |100
T L 8 P BT TT LA A B 0 B A E B,
2. 5 FER BT (4 Bk 1 A ) R0 3= RS ) iy A s 1 B LR

B PR AR R A TSR 25 A R A
BHr I () % A SR R, AR B AE 4 ChatGPT
R ABFE A, AT DL BH B K e ol i i — Lo BE Al
B LA NG Rt A,

FEAth A R A A 2 A X R R 3 TR
B AR RE R, A5 X 18 VR R R B R D RE AR
At B & IR R R B SR A A B A ) 2
SEAE T I R Rl s SR AR B, DA M 2R s T
Ui B H 2 R B BE 1 K 5 A M e B
PRI AE LS sl BT 1 55 17 B v a2 T 24 B SR
I K, L5 24 A O N H H 28 B 2% > FiLE
R 3l , IR 2032 PR B %) RGPS (] &0 5 7 5 B8
P R R A1 BT B R N R A, R A 2 B
UG BT | R A A B SR s ) O 5, A
2 5E R O BCER 98 VAT 55 B BE 1, 8% il 2 A= 4]
T P b SR [ SR i e ) B A4 5 2 7 A R S
SEESCE AR 27 2 AU B B, BB R A ek R
P, 4R 2R Ay X 7R Sk i B g S A e
B — 5 P AIET IR BE
3. MAEMER

R TR AR A AR R MR T OGO i )
552 MR LIRS, B T 3 MUKSERIRME R, K
1. HEOR ChatGPT DB ER S 2 R 1 BRI
RN E N ;K 2. 45 ChatGPT 2R S 43¢, /K
- 3.45 ChatGPT $AERSCE SC LA KA RN AL

S ETHRHFEMUMEZE LM ChaGPT iy &
E3U

Z 8 CSE Flm B iF R &, I ChatGPT i
BB TR P 25 2 B A T R R L T
R A SR 5 AR, 2y 3 2 SRt 25 A
P N SRR R T AT R T, AR 2 X
. 60 .
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1. ChatGPT 4] U042 # & I

(1) A4 ChatGPT Y954 LLEHI SR, H T
AR EMAE B /K 1, 0] ChatGPT 1) iy R B S
A, fEX A AU BT, BARE AR E A OUME
AN i ELAT BEAFAE S %, OF 5 T P 45 7€ 19 i LR
FEARTER . Han AU ESR ChatGPT X G &3
) HE 2 WA 1 BRAGEA, IR R R R R T
REJNITRURTL 23 08 55 038 4 AN Oy T 43 Sl i il 2 8,
ST 8 (X LB 4 U B 1 ~ 4

U1 (1B R/ Fe il A B8 ) - Which sentence is
grammatically correct?

A. T plays football every day.

B. She play football every day.

C. He plays football every day.

D. They play football every day.

B2 (5 /B A ) < Choose the correct
form of the verb to complete the sentence; We
our homework yesterday.

A. do. B. did. C. does. D. done.

B3 (RSB sE A f8) . What is the main
topic of the passage?

A.Sports.  B.Travel. C.Food. D.Education.

A (G 22 A A ) . What is the author’ s
purpose in writing this passage?

A. To entertain readers.

B. To persuade readers.

C. To inform readers.

D. To criticize something.

(& H S0F)
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PSS o 25 el 55 218 R R — B0 n] B (H 5 1
R P AL (C D) 552 %N B,
X P E SRS KAE i H S AR MG

L3 FIEE 4 2% A 1 J2 b 2 R, 23 0 2 A B 32
MEHY“ 5" FEF I« R (HB 3 3R IR
B A KRN D, X H TR — TR,

(2) AP 45 ChatGPT Y484 LA W o R B4
JIT P i R 5 S 7K SF 2, 0 ChatGPT (14 fU7K -
A P T BRI R I 1 H A H A
SHPgE R e R ML, BN, 45 ChaGPT 2
BECHMLSTETE) 55 2 WHEE 1 BRI IR SR A, IR 2K
BNTE AR R E A DR AR AL 21 F R
4 AJ7 AR S 2 BB T 8 (X L H BRI
4 PS5 ~ 8,

S (TE BB/ B mE P A A1) : Choose the correct
form of the verb to complete the sentence ;1 a
new book yesterday.

A. buy B. buys C. bought

6 (15 v A B il A 730 ) . Which sentence is
grammatically correct?

A. She don’t like pizza.

B. He doesn’ t likes pizza.

D. buying

C. They doesn’ t like pizza.

D. We don’t like pizza.

BT (5 /2 A A8)  What is the main
topic of the passage?

A. Daily routines.

B. Sports activities.

C. Famous landmarks.

D. Food preferences.

B8 (e /A4 A)  What is the author’ s
purpose in writing this passage?

A. To entertain readers.

B. To persuade readers.

C. To inform readers.

D. To describe a personal experience.

[ & H AF)

U5 FIEE 6 7% A 1 2 R R, 23 ) 2% A glyin)
A AR B Bl A B 500 500 C M D, X A IE
HAR R T H S AR A TG,

T R 8 A i R R TR, 23 30l 7 A e 1A
BHY“ B FER B BB 11 3R B

<SRTOR 50,
E s,
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(3) & I 4 ChatGPT [ H AR, BT 4
R AHE B KR 3,00 ChatGPT Hy iy LR B
AN, BRSNS 18 E 1A R A DA
5, T HABHRS B po QB i il i, 24 2E
AL ChatGPT SR &1 ) 25 2 2R 1 2RAY
J 3, T ELSR A TR SCRY A SCTERE, FEER BB
AR e TR DIRERI R AR 1A F I 4 AT
gyl 2 BB T 8 (X B H I 4 R
A9 ~@12),

B9 (T)he BB B M Ay A3U) . Based on the
passage , why did the narrator say, “I can’ t hear a
word!” ?

A. They genuinely couldn’t hear the actors.

B. They wanted to start a conversation with the
young man.

C. They wanted to express their anger to the young
man and woman.

D. They were trying to be polite to the actors.

10 (DI REEL/ B A ) . What was the young
man’ s intention when he said, “This is a private conver-
sation!” ?

A. He wanted to apologize to the narrator.

B. He wanted the narrator to join their conversa-
tion.

C. He wanted the narrator to be quiet.

D. He wanted to explain his behavior to the narra-
tor.

B (S8 /A B AT ) o In the given
context,why did the young man’s response seem rude?

A. He used impolite language.

B. He interrupted the narrator.

C. He ignored the narrator’ s request.

D. He raised his voice.

12 (2B B/ B8 M A ) . Which word
could be used to describe the young man’ s behavior?

A. Formal. B. Polite. C. Respectful. D. Rudely.

(& H A0F)

L9 F 10 75 A 12 DI REHIN, 70 30l 5 A % A
XF ISR i B A« — )G BT AN DL AR 5 1
1220 B Sk SR AL B IR TR i I & I R B RN
U 5 i R B DI AR G, OF HAR G 2% 4 14
- 61-
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FETESE T A R A ELOE R (H S 9 Y They 5
FHEU AL He , their ZE2R his , Ay 255 & — 8,

A1 AR 12 25 A B SR Ak 20 F R, 23 i
[F) 442 55 - SN TEAL B JEE R LR e B 25 3% A~ 4R 4%
BFAT MR, —FHERZSN8 C D, BHY
R UIMG, B A R A B & —EH il s
HRA VR IR, R T RAFA a8k,

2. ChatGPT 44 2 912 #9 £ IL

A4 ChatGPT %+ 2r HAKR 9 T ARS8 4, R
MR A RUR A IF EOR B R E 255 PR AR
PRI, WA R4S 2R 25O B Ry 0
ChatGPT Fr @3 iy R U BEAR A S ks Lo LT 2
FIH ChatGPT T HA 1Y % 2 %1 1% D) 8 , R A Wi 4
[i) SR AR RIS Jy SRS M U Y i

5, 4 ChatGPT MUH —E MM L IE . LR
PERE 505 R H 595 A R B, W
FeXt ChatGPT MiE R E ., “You are well versed in
writing test items for assessing the students’ competence
in terms of English as a second language. Now I will give
you several passages. You are required to generate some
innovative items and some items that requires a
including  syntactical

composite of  competences

knowledge and pragmatic knowledge based on the mate-
vials provided. ” (* Uk A4 3 T 425 9 i 2 19 )y
TR B 2 PR A2 R — L850 TE AR A 45
FE R B AR R — 2 ) B M R R B LR A R
BH.") .

HWK A ChatGPT $& 1 HAA 4 iy B b1, A B
FEN ChaGPT 42446 T CH & ) 5 WA 1 ERAY
SR ILE R, FIE, ChatGPT 1 644t T — L)
A RSN 32 A0 B WA 1R ($ IR 95 4 A 1
|E FWHERIER) .

] 1 (B8P A ) . What does the word “bear”
mean in the context of the passage?

A. Large furry mammal.

B. Tolerate or endure.

C. Expressing anger.

D. Direction indicator.

Bl 2 (LA . Identify the error in the fol-
lowing sentence; “1 did not enjoyed it. ”

A. The verb should be “enjoyed”.

B. The word “it” is unnecessary.

.62 -
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C. The sentence is correct.

D. The verb should be “enjoy”.

Horb ) 1 03 R 2 B2 A I N A ] 2
Zia MU S Ak N,

Wt a2 BB S 4, 4 ChatGPT A Wi i
HAIE R BE P A2 B PRI H B 3R ARAS 1 Ok
A LR 1

151 3 (B PE 32 W) . Write an evocative and de-
tailed review of the play from the perspective of the narra-
tor. Use expressive language to convey the emotions expe-
rienced during the performance and how the disruptive in-
cident impacted their overall impression of the play.

15 4 ( %%@IXJ’E@) : Rearrange the words to form
a grammatically correct sentence based on the passage:
“loudly/talking/a/young man/woman /The/and/were/
behind me. ”

%l 5 () #r WA ) ; Imagine you were the
narrator in this situation. Instead of confronting the young
man and woman directly, suggest an alternative approach
you could take to address the issue while maintaining a
polite atmosphere in the theater.

)6 (2545 T E WA ; Present a scenario where
the theater manager must decide whether to prioritize
artistic freedom or audience comfort. Formulate a well-
structured argument that considers the ethical implications
of potential decisions and the long—term effects on the thea-
ter’s reputation and patronage.

H LA B9 RT3 14 2256 [R], ChatGPT 45 i)
AR R I B A A 2 | W B8 A R B A L, 7R B BT
PEAT IR 2T, ChatGPT L3R 25 8 & M 5 SCHE & 1)
61 3k RN T8 L AR e Ol SR A PR B R TR
VAN R 38 ek AR v I SO AR R 8 AT
W TELRG VA 48 2T, ChatGPT 223K 2 R MR
Bie 25 B4 £ J32 25 TR R) R, X 20K 1 H RDULAR 1) T 3
JER KR IEATIIE , IR D SR A A8 1 X Je) B 44 7
FARAF B B i S5 R

EfF— 420 2, 0 4 BB Ag i, Kby
“The” e df BEAB B A”, HIE A Y22 28T LU “ A
young man and a woman behind me were talking loud-
ly. 7 45 B ChatGPT 45 H B3 H | 245 %6 ]
i85 A “ The man and a young woman behind me were

talking loudly. " (A KEE) o
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M bk L Bk F , ChatGPT H2 T 5 4
B RZR G T BN GE T, & AT LAFE R PE S )
Ty Syt W s i e A S ALAAE Ty 1 T
BUH MK TES N B4 H RE ML & E I mn
ety DR AR G A BE G T W ER ) Y R R
%5 A 7 I AT

it , ChatGPT & 11 (1 8 B A7 7E — 2L [m] 51, i)
XS H RAR S S SCE AR 55, 6 T OeiE I )
b S U E AT TR (1 DG 50l s = T S 7N
AU A 1 A A 1 5 SORE WX AT N SCER 57
FUR AR Be 7 T A48 D TAR My ok, 22l
Bk BRI R 2 A AR ZE VAR 45 O AR i B/
SRR W BT S G At P R A AR 3 1 R 4
Ko 381, ChatGPT H HiTE IS H] 2 AR T B 5 T 1Y
FAFEA R TC A WU T R sl i AR H

M BETREEIY

FRAE IR SEUE S M, BT LA ) 0T e s AL,

5, TR R M e 8 KB H BRI
TEBLT , ChatGPT A LU 55— 255 7KSF ) Al 1 |
ZRAE N M ADET I ) & LR R, 1R — 2,
ChatGPT Z/DRE NS 5 ot i AR It 5 A B Y
ARG 5E .

HU,FIAT ChatGPT BT BAT 19 A 1 22 5 X 3
Uige, v LA T B 5 — S B AR K A 25 A M A
HTPE 3 R

PR, ChatGPT HY 24 ij M AS FL A7 v J5 1 48 o 42
JeREAE & P il 08 5 AR 0] 6 H BB 2E A R A
HEEWRAERREZANZRZIHEFERNE, W,
ChatGPT 85 1Y it A5 8 B, #7522 fh = K F % K 1A
BN, 3 Ak AT o 2 45 7 =, 0 P 2 B Rl 24 R A 2
PEESEHAT R Gk A

15 , ChatGPT fir il (1) 30 80 M AR KAF 4R , 45
Gy IR W 2 5 sAE F R LB, I, ChatGPT
s W E R T g8 ) e i, BOR F /N
PN R B DR A5 R B I R B, R0 BT i 4y
B ( psychometric analysis) 71 % , B4 I Frfa @ H
ANAEFERS 2 7] J8E, 3 4y b sz e 2% 3 61 T 18 1Y)
BER, VRIS 1 N AR

2, ChatGPT 78 %5 il i A 7 g IR K, R
PAmAEOR IR S8, Ar AR M R R e ie iR S
H1 0T AN T 5 O e 1A R v R A 32 0 AR
Z /AT LSy iy RO B AL A B 1 1 ] I R

*&“ ‘5()%(
S M &
N S A

AR s
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FT T 00 JEL 26, Ay it o i R o A PR A AT ) SRR, SR
R JE B J2 , ChatGPT BT #8851 18 H ] RE A7 78 Bl 2%
PEFS 1, HoE 5y 2 B AN K AP 44, A, ChatGPT fF
BEWE R E BT E A m K& KA Ak
e B A] LK ChatGPT T 488 5 14 o S 7 i i =2
AR I, AR i i i, 4R, A U
EERSHEH M T B E R s AR R FE L W
ik, ChatGPT NI & KA A A1

Sk

[L]5 9 AR RS RS ) 45, AR XN TR BB 208 1
PS5 RE L)L ChatGPT RS 6 )], ELE R ,2023,43
(4) :24-31,51.

21550, TR, 2K, 2. ChatGPT/ A= it A T8 B Xt

BRI MR TR SR G [ T, SRS K2 2k 4 (S E B

SRR ,2023,41(7) :26-35.

[3]BERM. AT Al IE R 207 A8 5, BBk R 5 )
ZH5(T]. EZEFE T ,2023, (6) :26-33.

[4]1BHME L. hWEREERE SRR M]. .
FAFHUR AR, i . i SMEEE kL, 2018 .1-5.

[STHHE M. L55HH F IR R bR #E (2022 4 0) [S]. b
5 AU BT R 2 th bk, 2022 :4-5.

(6] # . il B Th S E IR bR (2017 4ERR 2020 4E15
i) [S]. dbat . AR#F H it ,2020.4-5.

(7 ARG, 0%, AR, 0 1 s R 1A B 3R T )
B DIBGESRA B )], hE %2023, (8) 28-36.

(8B HME PO hEEZ M ERRIM]. dLa . AR
O AL, 201928 -32.

[OVARRE, RBATR , 2048, 46, 36T R % DR A &R 0 318
BN A O SR AR 1] E %K, 2019, (12) :33-37.

[MEERN ] EN, B &I LR FAFFR T
SEASIEEFREEFEAFR, FEPLX
FH (K 410081) ;48 KA, # & IR LK F5NE
EFRI LA AR KA R TR ARA RG] E
FK,

[ExH]Ha(HFMNESHFMH) (KD),
2023.4.3 ~13

[EEMB| AL A TEKT LA RERBF LT
FiXEF L E R 4 2021-2022 FEHH R ERRM
R A E R F R FE K R G
(jyks2022021) BBk s R
.63 -
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